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ANSWER KEY

DECIMAL OPERATIONS #2

Add, subtract, multiply, or divide to solve each problem.

1 2 3
34x12=__ 4.08 937+56=_ 4.9/ 71-421=__ 2.89
4 5 6
1456:07=_20.8 127 +363=_ 10.33 144:03=__ 4.8
7 8 9
17063 -912= /943 89x43= 38.27 134-08= 10.54
10 11 12
3154+876=__ 0.3 519:15=__ 3.46 59x10.8=_ 03.72
E 14 15
0.084:006=__ |4 24.065 +13.76 = _3/.825 0.923+89.6=_90.523
16 17 18
245x63=_10.435 56.009 - 35.16 = _20.849 10125+ 075=__ 13.5
19 20 21
14.67 x3.7 =_54.2/9 99.352 + 0.688 = _100.04 75124 - 6.505 = 68.619
\_
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